BT BT E RS LURT - BT DRilc BUREESEREE R

BERHOEELS SFERACES b S BBITRLT H‘)!?&uﬁﬂﬁiﬁt’b*

BROERETEOTICEL L3, TREBNET, .

@ ZITlReLoEEEEDLALE [BR] BLUT HERE c‘;b'CIZ:’ﬁ
LTHUET.

BB LVERR D EIREIC,
iR 2t
NEE Hmu\rz,homﬁét_,mﬁsrga)%%«bﬂfﬁ&
B Ha mEEr R e T BT AR Y ET,
58, NEE KRSLAEETS, HRIC &> TREALERICEYD
<T&ﬁﬁ%U&?aUTh%EE&WﬂEEﬁLTD&?@?MfTﬁT

K&,
A\ B

FEEIL-tA 2

~tr

R E - TEEERITSAHEMNY

Bk EiARE/INSTRUCTION MANUAL
= LFESERRIEN BV

Fuji F-Type Handle Operating Mechanism
=R BWOFOJA

Type

® Wi, MAL, EHERSLVRT - mRISTEREYST
2T S, BESIURRICLDREOBERFHUET,

AER

@ﬁ@ﬁu,ﬁ%,zwmaaamuﬁmbaut<néu
@ ENIl}, BATEBLURT - SR EPIEBE R ORRNENT>

TLESD, .

@ =8, 28, LABL, BRAMHR, BEOERE - RS RELR
WICERBLEINTL S, NE, 'k§ﬁ1’ﬁh&®?:%hb‘$ﬂ)§?n
@ BRI IR REEDESRIC LA S TR IFT SRS D, :
BT AHErHDE, BTLEECIY,FFORRICAVET,

@ IRRIAETRES R LS TR TS EE L,
@ ZF, Q2 -, SMESBRYPREATIZADENLSHT
;t’<r:’-él.\ #&ﬁﬂﬁ'ﬁ%ﬂﬁﬂ?ﬁa‘a&mhi}ﬁ’ﬁﬁ8033:%2’113%U

¥
BT ENTEIVABTOHERTRENTES L, .
enyrIoEQysLni—&58 L TFENAY FILERESETREICL
TLESTDS, BEEITTLEEL, uaw\—b\}*m\on,{k%&
TEEBLVATHITSE, l:waw\—h‘ﬁmsbi‘é'o

o RRERETSIESE, EEREYE LTMUE-TI B,

1. 60 _

1) BFEAL FILEBEL LS, WMERICBELLEERIIROTES
PEBELTSEEL. FEAYFILOERICHE>TRICKLVE
EHHEETHSCEREMBLTSES 0 FFENAY FILIZIE
mEAEBUERT,

2) AR TENERIEESIN TS EE2REMLET.

EIAWAE S Pas i & 1]
Handle base unit

FAV A %5
Handle unit

==
E‘”

£4551Bag 1
S — 2T EERS

Parts with grease

o o

Yoy 2y ov—M8
Link pin Washer M8

BWIFOJA

WERERER Driving unit
BWOFOJA

E1 BEEm
Fig.1 Packaged part

|Safety Precaution’

Ensure proper use of the product, be sure to read this

manual and the other aitached documents carefully before

starting installation, operation, maintenance, and inspection.

This manual should be given to the person who actually uses

the products and is respansible for their maintehance.

@ Within this instruction manual, safety precautions are
ranked, in order of importance, as either "Warning" or "Caution".

; :An operator may. be killed or seriously
Awarnlng injured by a hazardous condition resuiting
from improper operation.
N :An operator may be suffer minor mjurles
Acautlon and/or objects may be damaged by a hazardous
cendition resulting from improper operation.

Under certain condltlons, improper operation may resuft in

setious Injury and/or damage even if it is labeled only as

"Caution". Every item indicated by either "Warning" or
"'Caution" should be considered significant: Be sure to give -
particutarly care fo those items.

AWarmng

@ Turn off the power before starting mounting, dismounting, wiring,
maintenance or inspection. Failure to turn off power may result
in electrical shock or burning.

ACautson

@ Do not use deformed or damaged MCCB or operation handle.

If deformation or damaging is found out at detaching of package, ' i

@ Mounting, detaching, wiring, maintenance and checking should be done
by an authorized or certified person. '

@& MCCB and operation handiés should not be used in serve
envirenment such as high temperature, humidity, dusty, corrosive gas
excessive vibration and Impulse. if they are used in such an
anvirenment they may result in fire or malfunction.

@ Mounting should he done according to the instruction manaal. Failure
to mounting may cause malfunction of MCCB and operation handle or
cause an incident which may make the operator hurt.

@ Screws are tightened in specific torque shown in the mstructlon manual

@ Dust preventing measures should be done, if the MCCB and operation
handle are sed in dusty places such as cement plants, iron refineries.
It may result in poor contacts, defective release action or
malfunction of the device.

@ Don't do reforming to the MCCB and operatlon handle wzthout
authorized permission,

@ Open the door after unlocking the handle lock lever (Please adjust the
F type Handle to the RESET positicn.). If the door is opened when the

handle is locked, the handle lock lever will be damaged.

& When the MCCB and operation handle are abolished, -

doing it according to the abolishing rules or regulations.

1 Verification

1)After having unpacked the F-type handle, be sure to check the handle
doesn't have any deformation or damage suffered in transit. Moreover,
make sure that the combination of the F-iype handle is correct
referring to Table 1.
This F-type, three Poles are for exclusive use,

2)Parts supplied with
Make sure that the following components are supplied with the handle.

o AR

N RV F—TNER Bedy type
Handle type Cable type . -

§ MCCB (=FAB)

o BWEG30RAGU

BWOFWHA-15A BWE30HAGU

BWIFDIA BWGFWHA-20A BWB0ORAGU

: BWBOOHAGU

#1 Tablel




$8562 Rag 2

8253 Bag 3

o o | i) 0— (] =
ol e o o 1 i == = =
AARMRIL N Fhg s ARARFRIL N FRpRD = & S
WL /s— F-TURLY— ESR 0w L/s— MEX8 24  M5BEX10 2% M6x20 2% M4x82& M5x14 2%
Release lever Cable holder Mounting plate Lock lever | Hexagon socket Small pan head Hexagon socket Smali pan head Truss screw
i bolt olt screw M5x14:2
M5 x8:2 M5X102 MEXx20:2 M4x8:2
2.1 5E oo 0o © O
' 1) -th:fi{"- J—-EEEEJ\EHH'L'C<TCEL‘° ——— FubME 2/ AFULT oyl —ME
| —— Nut M5:2 Duiy-Ms 2
10 (st 2 Washer M5:2
= HFANAIMEX 110 4% Shing washer
BWOFOJA
Small pan head screw MEX 1 10 4, =
7o) B 17 Split pin:1
Mo
s o
M 3 - —7I Cable
' & C WM
W MCCB €
¢ - | 414
19 '?6.‘6' - | mccB B 7 =
' c ®3 EESpER7NERMTE Fd TYPE| A LB C
- _ ) ' - <L (44 FR7SEA< FE& L) : MERME ¢7
m2 EAMNLIE (HEGIF) . ' Fig.3 Drill work drawing for BWOFOIA | 243 | 70 | g™ 87
Fig.2" Drill work drawing - the driving unit
for the operation unit 4|4 (drill at 4 positions) =2 TS
Table 2 Cutout dimension

AN\ GER

& Caution

e HUfIT, HBISMIBTFRLUTERZIT>TLLESL,

@ Never fail to wear gloves when mounting or adjusting.

2R IEER#EAT

(1) BESORAMITIZR2ZSBES Y,

(2) NuFvhiny RVBORETORBICRESATHS T EERALTLE
i, (HB8D 28
N BRI EN FILA— z”ﬂ’cnz}b&ﬁa&, n%;\ﬁﬂxbmx
C20TMRLOABLUBEELTLES.

(B8@ BB 24 MTRALY:51~65N-m) .
N BIVEOIRE LN — &\ R — QB L /N—oRiz, UV
SEVEBLTI YO r—MBRUBNELTEETS, (H8@BH)
’I' TNl —F RIS —, KBRS FMEXSTRLTL &
Vo F—TIEBICr—TNRILT— OS2 BELTTEELTE
éln (H8@, 4, TSR &1 A23.1~3.9N - m)
BWOFOJA '
F— 7}[/.%[:“/?5‘52’\-#1‘11/i*fJ‘#J23mmﬁ:.'éck-9l..=EEb'C<
&N, R, AN—HRL R EELERESS—TILICREEZ TR R
AT EEL, 208, 7—TVEREY DS ZA—HH )L b8mm
HTWBT EEREL, ¥—7ILICHNT G F Yy FEZAS—HERL b
RSB LT SRS,
(B8 ®, ®5, 688 #if b IL23N-m)
(7) B A—%F~PRIMEXT O T I*Jblt&b’}ﬁl‘.._ﬁﬂﬁb'c<téb\
(l8© EA4S8HK ﬁ{1|~1»931~39m m) .

(3

(4

pum

(5

—

G

N EI DR

Handle fixing plate ML/ N—

Release lever

= TR —

Cable holder ®4 BEYSIE

2)}Assembly of operation unit

{1)For work for mounting of the operation unit, refer to Fig.2.

{2)Make sure that the packing is set to the groove of the bottom of the
handle. (Refer to Fig.8-1}

(3)Sandwich the panel between the handle and handle base, and fix them
together with hexagon socket bolts M6 X 20 from inside the panel.
(Refer to Fig.8-2.Two peints, tightening torque:5.1 to 6.5N - m)

(4)Put a link pin through the holes of the handle driving lever and of
the handle base rotation lever, and fix the link pin with a washer M8
and a split pin. (Refer to Fig.8-3)

(5)Mount the cable with the cable holder and hexagon socket boits M5x 8.
Fix the cable with the presser part of the cable holder pressed to
the groove of the cable.

(Refer to Fig.8-4, Fig.4 and F:g 7. Tightening torque:3.1 to 3.9N » m)

(6) BWIFGJA -
At first, screw the spacer boit into the cable fixing pin on the
rotation lever and ratate it till the projection of the spacer bolt
becomes 23 mm {See Fig.5)
Next, tighten the head of spacer bolt to the cable till turning
stops.Then confirm the projection of the spacer bolt becomes
9 mm. (See Fig.8)
Tighten the nut, placed to the cable, to the spacer bolt and fix it.
{Tightening torque 3N - m)

(7YMount the release [ever on the handle fixing plate with the small pan
head screws M5X 10,
(Refer to Fig.8-6 and Fig.4. Tightening torque:3.1 to 3.9N - m)

23+ (8) .
AN—4FR N b
Spacer bolt
L= T—7VEEE Y . .
Lover Cable fixing pin E5 AR—H)L bDAIE

Fig.5 Spacer holt position

Fig.4 Mounting position



ARZN TS EHRIIESOLSICHMFLTLEE L,
Mount the parts unpacked according to Fig.8.

o FAPRIMEX10

BRREL 78— .
Release lever :ﬂj =0 Small pan head screw M5x 10
® ¥y %2 Packing

SN RJLES

Flandle unit AEREHIL NMBX 20
RREIL/N— Q, ,ﬂ, Hexagon socket bolt
Drivinglever . MBx20
A BWIF0OJA
Panel _ :
N R ’
N2 H
Handle
base unit
g =T hEAs—
b FRENHERIVEMEXS
- . Cable hoider. :.
Doy Rﬁlftgif;n\— @ gy ™ Hexagon socket bolt M5 X8
Link pin - ™1over Split pin
: =7
DYy — o o
Washer M8 8 IRfESEIR Cable

Fig.8 Operation unit

F—=TNRILT—
Cable holder

ik A

9---- (B) . Presser part
Fvbh TN

T -iNut ;Cable

B6 r—7IOEEME
Fig.6 Cable fixing position

Groove ~ Cable

E7 s—7LOEEsE
Fig.7 Cable fixing method

i} #tt b2 Tightening torque. 1.7N*m

B9 HFHN—H (RIER
Fig.9 Mounting Terminal cover (Optionally available}

A\ IR

AWarning

® KRN FLEBRRED 7 L— AR S BE R, &7
EBHEED), BELHECTEEEEOTRAL,

3)EEEHERARAL o
(1) B8R (MCCBAHMRIANIHEIEBR 2t
(2) WF 55— (3I55) A HORER, ABMICTIIT < 2, (HOBH])
(3) FFEOFFREICL, FHCEDIZY FIERETEITHRENL
TLHEEN. (10, R3SH)
(4) FHCREETL, |R/SUT, T520NY KRBT HN- (35)
BEERITETEBLT ALY,

(5) E10OEER - BEHOS—TNOABDT Y FCELUDEBHTH
BEICEEL, 7 MERFETES D, 5~ TLORAOS T+
MITHCTHEELTHALCNETOT, BABOBRERETT,
(B10, ®3SM)

@ Turn off the main circuit breaker located upstream of the FAB or ELB.
Before staring the mounting of the F-type operation handle is on
the MCCB.

3)Assembly of the driving unit

(T)For work for mounting the driving units. (MCCB bodies),
refer to Fig.3. )

(2)The terminal cover (Optionaily avaitable) is installed on the power supply
side and the load side of the circuit breakeér. (Refer to Fig.9)

(3)After turn off the circuit breaker, mount the driving unit on the
bodies and tighten them together with screws.
(Refer 1o Fig.10 and Table 3.) .

(4)Wining the main circuit and never fail to mount interphase barriers,
terminal covers for the flange handle(optionally available)and other
protectors fo secure insulation,

{5)Loosen the nuts (C and D) outside the cables of power supply and load
sides shown in Fig, 10, and set the nuts on the driving unit and

EIER KA *B tighten them. The double nuts inside the cables have already been
Line Side adjusted at the factory prior to shipping, requiring no
@ ®C - adjustments in assembling. (Refer to Fig.10 and Table 3.)
E K
ﬁi)i/ 5 A {5 B1{ Body mounting 4r— 7 IBi{s Cable mounting
Fu i @i vy
Double Tightenin ¥C j XD | XE | %F
: ; nut EREER TYPE HA *B toraue (N m) (N m) | (mm) | (mm)
A i Briving unit | {N - m)
_ ,;_< A j;\'.lljl\:ﬁ-*) d;’\’fl_li‘a'i") .
¥ e—————— an ~ ~
B/ H %A %B BWOFOJA hegg sgrew heglg sgfaer\:v 2,6~3.2 5"15‘5 5(1{6 10 53
] %D — MEX110 | M&X110 |- - - - .
Lo%fg{j 4= Cabte 4r— 7l Cable #=3 Tablel
ide ;
E10 ERSHERFMEIIE
Fig.10 Driving unit
4)Eh et - 4)Operation check - - -
After completing the assembiy of operation and driving units, operate

1R1EEE, BEENEBROMILIE T8, WIEN FLZEE S LTMCCB
FELHEREICON, OFF, RESETTED LML TS AR,
(RRDEBEFEEESECLTIEEL)

the operation handfe several times to check if the MCCB or are surely
turned ON, OFF, and RESET.
(Refer to the adjustment procedure manual attached)

AEE

- Caution

® r—JILOBNEIFERIE, 150mmTT . ZhBTFCERTSE
HRARIECXBEELTBZENN DY 2T,

0 r—J I ERBFEINFTEMICMNALK SICEREL TS EE,

©IRET ST, BI /N FIVEOFERREICL, AEAESEHRY
BN TEDZ L AERBITO>TIES .

@ Bending radius of the cable is 150 mm at theé minimum.With the cable
having the bending radius of less than 150 mm, make and hrake operation
of the MCCB can be hindered. : )

@ Great care must be taken to prevent cables and metallic parts
from touching live parts. - )

& When detecting potential differences or electric charges. be sure to set the handle




BYA & —0w o383r

(1) E12053 D@ NF20FI330IBEELTLES .
TTAYILN—EEETSUMENEENE T,
BE300BEE CERLTEE N, ARLCREL1O LS ICEA
LE<EEL.  @HrLe PFARIMEX14:3.1~3.9N'm
FABREDMARE 1 1.6~2.0N-m) )

(2) EREAOES, €2 5—0v S ORHENERICRY 7, J&L
EREASEEIN~ZEBRLCIEE L, (B12808)

=1y ot )
BEI2008E D,

A% 7

Panel @\ hS 2 AUMEX 14

B {34R e Truss screw M5X 14
Mounting plate s LT
Owol/i— 270'J"/’j’7‘y~)1—:—m5

Lock lever Spring washer M5

Ty i —Mb
© Washer M5
FAUPRIMAXE + v hM5
Small head
Tecrow MAX 8 . NutM5 :
Bl A —OvOHETR

3.BERE
1) ERIREE TR
C AV RLEENRIET B EMCCBIZONL £9,
A RILETFARET B EMCCRIZOFF (RESENLET.
2) BOv o LWSHE
- MCCBHON, OFF, TRIPORBTEO Y 2 BEMEE A,
S\ FLERESETHEICYS 2 &T0
7,
- MCCBEONKEENE FREMII DMLY —RASEEET B &T0
DRSS NET,

AN ENOY Y :
1) EERFEROYI7Y FYRFALTOFFOY 2T B EHTEET, ONUE
TEHEEDY 2T 5 BSEERE RN LU BT SRS,
OFFOw% : $10 34 _
oNOw2 @ ¢10 24 (BBICLWIBILTLESWN .
2) OFFOw &7 3188 l;tﬂ?‘@TStDJ:ofaUtJ NBICAY LB LTHERES
BT IEE L,

© Fig.11 Assembly of the interfock

" OFFOw & AN
ON[I w4 Hole for off-state lock
On-state lock

WAV A
Handle

| ®13 N Hbl:iu’)
Fig.13 Handle lock

b Oﬁ‘ﬁgﬂﬁéhﬁ’é!ﬁl?éltﬁ‘ﬁé _

wa

AN EE

O\ FLARIET B, HEREHO&SILTEB LS,
B DN\ FIiE b Uy TRRE LE A

5B DTS

1) BFRAL BV, 7I/ ;'J& RFP—emhAg —OvoRkEs L»‘Cmfﬁﬁl’&ﬁu?m
ELTHEUEEADT, ﬁﬁéﬂ%ﬂﬁiﬁﬁé%ﬁ'ﬂ"éﬁgm%btbU'a“'!!‘h.u R
DEERHLEDEBAICABLTIES L,

2) CORBREEEHIURRICYL, IRBAASESEEE, BEOELERNET,

6.HEL

FMRRBELREEARTEEEOSTRIIBETRS &3 TaTREEEL,

5) Assembly of Interlock

(1)As shown in Fig.12, set the height of the panell, at 20 or 30 mm.
The fixing position of the lock lever varies with panel heights.
Fix the lock lever at 1 when the height is 20 mm. and at 2 when
the height is 30 mm. Mount the panel as shown in Fig.11.
(Tightening torque:for the truss screw M5%x 14, 3.1 to 3.9N - m
:for the small pan head screw M4x8, 1.6 to 2.0 mm)

(2)in the case of left hand side mounting, the fixing position of the
lock lever is on the opposite side. Provide ample woking space

far J part. (Refer to Fig.12)
HETDEE _ 5 54
Right hand Bl o8 I
side mountin - ] 5
3 o
b S ;l
e

EBFOES
Left band -
sitdle mounting -

IEB
J part

ﬁﬂE é] .
r/
B112 H{FAP4EIIE

Flg 12 Assembly of the operation unit

3.0peration
1}Operation with the door closed.
- Operation the handle upward truns on the MCCB.
+ Operation the handle downward turns off (reset) the IVICCB
2)Door lock and release
+ When the MCCB is turned on, turmed off or tripped, the door
Is closed and cannot be opened.
- Setting the handle at the reset position releases the lock, a!lowmg
the door to be cpenad.
- In order to open the door when the MCCB is turned on, turn
the release screw, allowing the lock 1o be released.

4 Handle lock

"1)The handle can be locked off-state using a padlock or a lockoutsystem.
When locking the handle on-state using a padlock, remove the concave
portion by additional work. )

Off-stdte lock:10 mm in diameter, three hales
ON -state lock; 10 mm in diameter, two holes
(perform work where required) c

2YWhen locking the handle off-state, be sure to set the handle at the

reset position shown In Fig.13 and lock the handle using a padiock.

& Caution

@ When operating the handle, take care not yo get your fingers
caught in the handie.
@ F Handle does not do the trlp indication.

5.Handling instructions.
1)Since the F-type handle is intended for use as 4n interlock between a
circuit breaker and a deor, it does not have strerigth enough to support
the weight of the whole control box. To suppori the box. provide studs
an consumer side.
2)If there is any uncertalnty about this instruction manual or the
products, ask us.

6.Note

Be sure to keep this instruction manual by a person in charge of
_maintenance of the products. . .- -

ﬁ#&?ﬁ%ﬁ%‘iﬁﬂ&‘té*ﬁt

%ﬁa$¥*ﬁ

T103-0011
REBPEXHAABAREEISETS
__#Eﬁfﬂﬁ)kﬁ,mtw

B E5: (03)5847-8060
FAX:(03)5847-8182 . S
URL http://www.fujielectric.co.jp/fes/

Fuji Electric FA Components
& Systems Co,, Ltd.

Mitsui Sumitomo Bank Ningyo-cho Bldg.,
5-7, Nihonbashi Odemma-cho, Chuo ku,
Tokyo 103-0011; Japan

Phone : +81-3-5847-8060 _

Fax :+81-3-5847-8182



